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RRB Previous Year Questions

Engineering Mechanics

RRB : JUNIOR ENGINEER

A man is standing on a boat in still water. If he
walks i the boat towards the shore, the boat
will :

(a) Move away form the shore
(b) Remain stationary
(¢) Move towards the shore
(d) Sink
[RRB-JE : 2014]

What is the force in the vertical member CD of 2.

the pin - jointed frame shown below ?

7T

vC

(a) 12 T (Tension)
(b) 2T (Compresion)
(c) 7T (Compression)
(d) 5T (Tension)
[RRB-JE : 2014]

For perfectly elastic bodies, the value of 3

coefficient of restitution is :
(a) Zero (b) 0.5
(c) 1.0 (d) 0.25
[RRB-JE : 2014]

UHh el Rer = d g R wer g1 afe g8
A9 ¥ fhbAN @ 3R Ferdt &, a1 A1

(@) TR I R oft Sirgeh
(b) Rer 3B
(c) THR & 3R g
(d) Riw
[RRB-JE : 2014]

o fege v fU9-Giige wa & odad 3raad
CD ¥ 91 &1 87
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(@) 12T (@)

(b) 2T (Jidre)

(c) 7T (|UTS)

(d) 5T (@)

[RRB-JE : 2014]
gof gy Ml & oIy, Uoga=er™ I[erd &l
LIRS
() 33 (b) 05
© 1.0 ) 025
[RRB-JE : 2014]




Engineering Mechanics ENGINEERS ACADEMY

Three forces acting on a rigid body are
represented in magnitude, direction and line of
action by the three sides of a triangle taken in
order. The forces are equivalent to a couple
whose moment is equal to-

(a) The arca of the triangle
(b) Half the arca of the triangle
(c) Thrice the area of the triangle
(d) Twice the area of the triangle
[RRB-JE : 29.08.2019]

The algebraic sum of the resolved parts of a
number of forces in a given direction is equal to
the resolved part of their resultant in the same
direction. This is known as-

(a) All of the options
(b) Principle of transmissibility of forces
(c) Principle of independence of forces
(d) Principle of resolution of forces
[RRB-JE : 29.08.2019]

The center of gravity of a semi-circle lies at a
distance of from its base measured along
the vertical radius.

@ (b)
© 2% @ o

[RRB-JE : 29.08.2019]

A block weighing W = 20 kN is resting on an
inclined plane which makes an angle of 30° to
the horizontal. The component of gravity force
parallel to inclined plane is-

(a) 10 kN (b) 14.14 kN
(¢c) 17.32 kN (d) 5 kN
[RRB-JE : 29.08.2019]
Coulomb friction is the friction between-
(a) Two dry surfaces
(b) Bodies having relative motion
(¢) Two lubricated surfaces
(d) Solids and liquids
[RRB-JE : 29.08.2019]

Qb PoR (U4 UR PRI A el & giRemH, e
3R fhUT T BT SpHAR Ueb 2ot a1 <1 Yl
ST Vel fhar SITar 81 3 et Ub U Fefg™ o
AT ©, foraar amgel . @ IR I ©-

(a) B[Sl & erawd

(b) RS & ea%ha & 3R
(c) B[Sl & e awd & i I
(d) BT & &F%d & & A

[RRB-CBT : 29.08.2019]
fopeit fau wq faem 4 g @efl @ fauiford wea
@ SRR AT, S faem # S g
T & T gch SRR BAEISH B
®Y # ST ST B-
(@) fadpeal § | w
(b) TAT B Feroreferar Rigr
(c) Tl B raerr- & Rigr
(d) 9t & faaom & fgra

[RRB-JE : 29.08.2019]

SFEIgeT T ocd B, oTFIad AT UR AY G

WD MR A 0 R Rerd g g-
@ (b)
© @ 5

[RRB-JE : 29.08.2019]
W =20 kN 9R aTell U sdfp, &ifast I 30° &
PO dTel 3T del IR fORMTaRen # &1
2| 3T T & AR o 9 & °gcd Bl

A AT BITg-

(a) 10kN (b) 14.14 kN
(c) 17.32kN (d) 5kN

[RRB-JE : 29.08.2019]
GHAW TYOT & 1 o Tl gyl 9 -
(a) T Yh HB!
(b) TvET IfT aret fUSi
(c) < Fifead wdst

(d) 319 vd =a yarl
[RRB-JE : 29.08.2019]
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13.

The frequency of a sound wave is 50 Hz and its
wavelength is 4 m. What is the distance travelled
by the sound wave in 3 s?

(a) 200 m (b) 100 m
(c) 300 m (d) 600 m
[RRB-JE : 29.08.2019]

The force applied on a body of mass 236 kg to
produce an acceleration of 4 m/s? is-

(a) 944 N (b) 59 N
() 118 N (d) 472 N
[RRB-JE : 30.08.2019]

If 'a' is the angle between two forces P and Q,
then the angle made by the direction of the
resultant '0' relative to the force P is given by

4 Qsina
() 6 = tan (P+Qcosoc)
. 4 Psina
(b) 6 = sm (P+Qcosaj
© 0 - s g hecea)

) 6 = cosl( Psina j
Q+Pcosa
[RRB-JE : 30.08.2019]
According to the principle of moments-
(a) If a system of coplanar forces is in
equilibrium; then their algebraic sum is zero
(b) The algebraic sum of the moments of any
two forces about any point is equal to the
moment of the resultant about the same point
(c) Positive and negative couples can be balanced
(d) If a system of coplanar forces is in equilibrium,
then the algebraic sum of their moments about
any point in their plane is zero
[RRB-JE : 30.08.2019]
“If no external torque acts on a rigid body, then
the product of its moment of inertia and the
angular velocity about the axis of rotation must
remain constant * is the statement of-
(a) Law of paralleleogram forces
(b) Law of polygon of forces
(c) Law of triangular forces
(d) Law of conservation of Angular momentum
[RRB-JE : 30.08.2019]
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wwﬁwa%m%som%aﬁ?s?ﬂ%
TR 4 WieX 81 3 Apbe H el a1 gR1 T

B IS A ST BITR-
(a) 200 ¥ex (b) 100 #Hrex
(c) 300 #iex (d) 600 Hiex

[RRB-JE : 29.08.2019]
4 m/s? BT TR I B B 236 kg TIA
arel fis R o1 SIH a1ell 9o S Bifoe-
(a) 944 N (b) 59N
) 118N ) 472N

[RRB-JE : 30.08.2019]
IfT ‘o' T 9 PRIR Q & dI Bl BIVT &, O 9t
P & wrder gRvmr '0' @ faem gRT 991 diur

TRT el fear orar 2-

4 Qsina
(a) 6= fan (P+Qcosoc)
. 4 Psina
(b) 6= s (P+Qcosaj
@ 0= g heoea)

O Psina
(d) &= cos (Q+Pcosaj
[RRB-JE : 30.08.2019]
3rgelt & RIGTA (principle of moments) & SITAR-
(a) I AATARI Tl BT b Hged 4 8,
ST SISO AR I BT ©
(b) T ¥ 195 WR o arell foedl 01 &7 gl
& AN BT SISHIORIG AN, 39 fog w”
oY 3mee & aRIER BIAT &
(c) TFIHE 3IR FROHE o™ Hgferd 81 A &
(d) I FHTAR Tl &1 Mg A 4 8, i
I9 9 | Reyd AT fog & dver e
3meEit T AR IRT I BT ®
[RRB-JE : 30.08.2019]
IS Th §S PRI W Pls ST=d Il =1 STl Silg,
AT 969G STecd AT 3R FHDT U 3HeT B HTUET
PO I P PHEBA T B ARy, I
e P 87
(a) 9l BT FARR TGS BT 18
(b) 9l & dgqS B 1|
(c) 91 &1 oS &1 ™
(d) PIUIT FAT & GRETT bl 1A
[RRB-JE : 30.08.2019]
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Ans. (a)
The boat will start moving away from the shore.
Ans. (d)
Ans. (¢)

The Coefficient of Restitution (COR) is the ratio
of the final to initial relative velocity between
two objects after they collide. It normally ranges
form 0 to 1 where 1 would be a perfectly elastic
collision.

Ans. (d)
Ans. (d)
Ans. (d)
Ans. (a)

B

«

The component of gravity force parallel to
inclined planes is

= W sin30°

1
=20 x 5=lOkN

10.

11.
12.
13.

Ans. (a)
Ans. (d)
Frequency = 50 Hz
Wavelength = 4 m

The Velocity of wave
= Frequency x Wavelength
=50 x 4 =200 m/s

Distance travelled by the sound wave in 3 sec.
=200 x 3 =600 m

Ans. (a)
F = ma
=236 x 4
=944 N
Ans. (a)
Ans. (d)
Ans. (d)
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